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SUMMATIVE ASSESSMENT - II (2014-15)
Tiehfora udiar - 11
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fuiframa 3 9we stfirRag 24 : 90
Time allowed ;: 3 hours Maximum Marks : 90
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General Instructions :

(1) The question paper comprises of two Seclions, A and B. You are to altempt both the sections.
(i) All gquestions are compulsory.

(iii) There is no cheice in any of the questions.

(iv) All questions of Section-A and all questions of Section-B are to be attempted separately.

(v) Question numbers 1 to 3 in Section-A are one mark questions. These are to be answered in one

word or in one sentence.
(vi) Question numbers 4 {0 6 i1 Section-A are two marks questions, These are Lo be answered in

about 30 words each.
(vii)  Question numbers 7 to 18 in Seclion-A are three marks questions. These are to be answered in

about 50 words each.
(viii)  Question numbers 19 to 24 in Section-A are five marks questions., These are ta be answered in

about 70 words each.
(ix) Question numbers 25 to 33 in Section-B are multiple choice questions based on practical skills,

Each question is a one mark question. You are to select one most nppropr:‘ntu response out of

the four provided to you.
(=) Question numbers 34 to 36 in Section-B are questions based on practical skills. Each question

is a two mark question,

-3 ¥ SECTION-A

& Wfifrws are 1 wrcifiEe tHife: v o @ =i @ gd 2

ywity Is pure acetic acid called glacial acetic acid ?



2 T 39 i ¥ faw FoEw i & fd wm oo w e e & affem W owEifa ga d 1

How is self-pollination different from the pmcesg where pallen grains are transferred to the
stigma of a different flower ?

3 37 fafayar & us fafere, =@ (2 ¥R) =1 = fafem | 1
Name one biodiversity hot spot.
4 afe wesTt Bl 2
@  Rfaad

(b)  Wpfaa @), o e F Tovrw w1 e frufdl A ow $ ey g sl g e
waz gfafdd erfl 1 a1 I wRm g A

The ciliary muscle of a normal eye are in their

(a) most relaxed
(b)  most contracted state. Mention in brief how focal length and power of eye lens will

change in two cases. Give reason for the same.

5 FS % g 1 S0 IR SR w1 g 9194 | 2

List four products produced by burning of coal.

6 7l eee Mo & T R & O o water feidt wed & wog fm oft Yernfeddi # g wAm e 2
2 & feay e &1 39 FRON wm wweed e e 9 ena g a9 & 1w T )

Though the kulhads are made up of clay which is an eco-friendly substance but their use has
been discontinued in the trains now-a-days. Explain those reasons which lead to

discontinuance of this practice.

7 T T wEHe dfne X % e TR w e o T et &1 o de-u fewe e &% fog 3
weite1 foran it %1 W 911 A ik w9 Y Toreht satereh g3 CyHO §, @1 FE ST
& g o form s &
() ‘X' et T # et Y e wwEeda ol § s g2
(i) G H O 17 T4 qoT Tt 4 ferfag
A colorless organic liquid ‘X" has no action on any litmus paper and is used as a nail polish
remover. Another colorless organic liquid “Y* of molecular formula C,H,O is used in tincture

of iodine.
(i) Identify the functional group present in ‘X" and to which homologous series does "Y
belong 7

(i)  Write the name and chemical formula of C,H,O.

g o UeTiedes WE TS AT S Ueh- U & IR SifeTg e S IR0l ok A o el 3
TFEETEE, FIEH, © hleias el 5

Give an example of each of the following compounds having the following functional group.
Write also the names of the examples.
Aldehyde, Ketone and Carboxylic acid.
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(a) F—Tﬁrm‘fffﬁmﬁt{ﬁ'aﬂ?%mnﬂﬂh: 3
O, Li, 5, Be, He, Na, Ar,
(b)  Iulier H vgER T AT ¥ gl e frfE

(a) Amongst the following elements identify the one that would form cations-
O, Li, S, Be, He, Na, Ar,
(b) Write the electronic configuration of cations identified above.

sHfeha e = nyfren s wiier § T e g i e W 3
(a) TR HYE we fefEy

(b) & & sfywin ¥ worerma e # Wma 1 i a0

(©) 3 sifwg =4t rft §2

(d) % 2 37 i % am fafay)

Inert gases are placed in a separate group in the Modern Periodic Table.

(a)  State the group number
(b)  How many valence electrons do most of them have ?

(c) Why are they unreactive ?
(d)  Name any two inert gases.

(@) W SitE B sTt = W vmeE St €1 e 3
(b)  fq quE FEAME ?

(a) “Each organism has its own identity”. Explain,

(b) What is speciation ?

T T N e e % e e 1 @ vE o st ufed g s e § af 3
HawnHl 4 gz gy ?

An organ like a wing in birds are an advantage to the organism. Did they appear in different
stages or were formed due to a single sudden change in them ?

(a) T o T A femm 3 aren et 4 S sreran st 7 e s i fa 3

HROT I |
(b) e WiEra We R frw v firm &7
(@) Identify whether budding as seen in Hydra is a type of sexual or asexual reproduction ?

Give reason for your answer.
(a) (b) How is this process different from fission ?

AITE TS A 1 FS W0 A =0 T} 3w o 1 e wife ol gl % a3



(a) & T I AR WEl gl € 1§ e

(b) T %1 yEH fala

() TV BRI T AITH S wifed gr e ?

A part of the male reproductive system is shown below. Study the diagram and answer the
questions that follow.

L= ‘Tests

Lireihra

s
Vas
dueletons

SHOeratuim
(a) Two parts have been incorrectly labelled. Identify them.

(b) Give the function of urethra.
() Which hormone is released by testis ?

15 “rrredt A YT W wHy wadfa @ fo fuffa & s 8 9 WA w3 =mA 1w 3
“Sex of the child is determined at the time of conception in human beings”. Explain this
statement.

16 #r F g F ards 3R & fou fom s9ed ) g9 foa § S"as # g suada | sy frfe 3
FT e, 3T for=e S0 2D, siferd wifaw

Draw a diagram to show refraction of light through a glass prism. Mark the angle of
incidence /i, angles of refraction Zr, angle of emergence, e and angle of deviation ZD in a

diagram.

17 oi| ) e F e fefaw T oE w5 A 2.0 081 3
() o9 H PrwT g A A T Hife
(b) %9 ofF ¥ wER w A fefag) fox w werw @ wwed 6 9 ofu G aesR e ge
<! stfyEnfia e FeE ATEIE |

Define the power of a lens. The power of a lens is +2.0 1),
(a)  Find the focal length of this lens in metre.
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(b)  Name the kind of this lens. Explain with the help of figure whether this lens would
converge or diverge a beam ot light.

18 Ufed U e ® Y T |/ AT s s9d B9 S @ fen e Y A ey 3
oz 19 1 U Sa-SiaEnen 2 9
(a) e ¥ Tan i
(b) TfE TS § =+ A%en T 22
() AR SE-Siaenen 1 faq1 d@va & s 7aw % faw g faw @ d s
gl :?
(d) Ufed Se-Sfeaemen ®1 397 77 % o sigd & fou segs af @
Rohit will be out of station for a week. He gave his aquarium to Raju, a friend in the
neighbourhood for that duration.
(a) Why did Rohit do that?
(b) What does Rohit expect from Raju ?

() ~ What will happen to the aquarium if left for a week unattended ?
(d) Why was Rohit keen on Ileaving the aquarium with his

friend ?

19 TeEE 3R UeEET & wwen g fafEun weie ol dun @) o fam W fAET T S
wifrars G AR g2 i fafau)

Write the general formula of alkene and alkyne. Draw the electron dot structure of ethene
and ethyne and write their molecular formula with structural formula.

20 (a) ifect s 1 ok o9 wHE SO 7 THOW DNA v @ oo §1 w 6t safa s

& IEL01 &l Weral 9 fad=m «ifsu

(b) = fonedt fafere wiivita O e ot fafirmetl & et wafaro § sesifaa & & @am
w4 e €2

(a) DNA changes accumulated over a time span has resulted in evolution of complex

organs. Discuss with the help of an example of origin of eye.
(b) Do all variations in a particular species have equal chances of survival in an

environment ?

21 far= 1 ufemanaty =1 gfeamn Sifsa . 5
(@) fAi==
(b)  wIa® waHA
(¢)  Teiyd
(d g
(e) IRCES |
Define the following processes :
(a) Fertilization
(b) Vegetative propagation
(c) Menstruation
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(d) Regeneration
(e) Binary fission
22 f 7 % fau snm fafau . 5
(@) X Al At feafd § o S W da € E
(b) T fenfeamd wdita 2 € wafE 7w
() @Al % deha &1 YR @ 7 T Ea §

Give reasons for the following :

(a)
(b)
(c)

Stars seem higher than they actually are,
Stars appear to twinkle where as the planets do not.

Danger signal lights are red in colour.

23 10 o WIRE T F I TIN Y TF T 15 cm 9 W6 &1 WS 1 9wl ot (vaf A wim s
wfefer & <l 3 391 qHHH & o feon far wifaw (v 19 F s )

An object is placed at 15 cm from a convex mirror of focal length 10 cm. Find the position
nature of the image and draw the ray diagram for the formation of ima ge. (not to scale).

4 (@

‘(b)

(©)
(a)

(©

Yh1El & IV U 1 AT F 7 VR R qCIewd a9l WEIE 1 T Al S0l & a6 g4y s
=3 FifeT |

<zH1 % 7o {4 fnfe fomy e & 3 Yarmi & fore e s st
(i) SR HTE Wefid e &1

()  FRYTY FH A 7@ L

TR # T TR b e i 2

What is meant by scattering of light 7 State the relationship between the wavelength of
light and the size of the particle causing scattering,

State the reason for the following observations recorded from the surface of moon :

(i) Sky appears dark.
(11) Rainbow is never formed.

Why the sun appears white at noon ?

Y-8 { SECTION - B

25 WA % faerd w1 A w0t & R e Ao e foerd #) s 3 e e s § 1T e 1
faran s & o7
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(a) = foremw Aid o1 § ufEfda &
(by e feemw a1 1 ufafiE o S d
() forell waR &1 1 it 7 &

(dy = feremm T B s

To test soap solution blue and red litmus are added separately. It is observed that :
(a) red litmus turns to blue

(b) blue litmus turns to red

(c) no colour change occur

(d)  red litmus becomes colourless

26 ﬁwﬁmaﬁme:fwﬁwwqwﬁﬁmaﬁuwﬁmﬁsﬁawzn%Naoﬁﬁwﬁ?1
fasor =1 feemrn | S e WA QYR WA Al § e 49 e S i ariv & qwtar mn

mo—X
B o
were] ‘X gl Hahdl €
(@) fremia (b)  TEgRTA
(¢) @ (d) uifsan Teisme

Riza performed saponificatin reaction in a test tube. She took vegetable oil and 20% NaOH
solution and stirred the mixture. After sometime soap settled at the bottom of test tube as

shown.

@y Soap

The substance ‘X'could be :

(a) Glycerol (b) Glyeol
(cp Oil (d)  Sedium hydroxide
27 9% 9O S A & W s e e Ay 1
(a) FIR S (b) g W«
(c) W S (d)  sinfr e

The water that lathers well with soaps is -
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(a) Hard water (b) Soft water
(c) Sea water (d)  Bromiine water

28 @@ Ug Y e ol W onlad mAER weEW ® R RO o€ w wiafs e i
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I"‘arg_llel rays from a distant tree incident on a convex lens form an image on the screen .
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Frmzgaet T e
B
—
—= 3
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.-lTu

5 A
The diagram correctly 5howing the image of the tree on the screen is :
(a) A (b) B (¢) & (d) B

29 TF I OF 15 em F g R @ T oy w1 dhen qun snafifa fafse 9@ &) g m dm st 1

m{ﬂ%
(@ 15cm¥ FH (b)  15cm ¥ afeF
(€) — 15cm % S (d)  15cm ¥ 3YF 977 30 em W HH

A convex lens forms an erect and magnified image of an object placed at a distance of 15 cm

from it. The focal length of the given lens is:
(a) less than 15 em (b) more than 15 em
(¢)  equalto15cm (d)  more than 15 cm but less than 30 cm
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(A} (i} i) 1)

@ A () B & < @d D
Qut of the following four experimental set-ups A, B, C, and D to trace the path of a ray of light
through a rectangular glass slab, in which set up a student is likely to get best results ? (P, and

P; are the positions of the two pins fixed on the incidents ray of glass slab)

WP
. P \ H
l‘; b !Ir ‘ ‘Ik \’
2 A S
-I,;;\. ] Py : \.,LP:. vu_\l'l
A et e e
! | b || |
| ] i ‘ | |
| S & | I 8 e A J
(A) (B (<) 18]

(@) A <) B € € (@ D

3 U o vEn R g U Ry w9 @ T W T @ v W awa g f e @ e amd 2

T R T A
i'T i e :
! i il ,'r M k% '
1 1 | {\—‘h—“ ----- - ‘\‘ }‘J——--- l
g ' I v \\ & - ‘,x'- \_“.
1) @) o) @
=1y i faw § Yferst < et
@ @) by  Fr(e)am ()
@ THEE)aI@E) @ fmq

A student while doing experiment could not place the prism accurately on the table. The right
way to place the prism in front of him while doing experiment is :

T PRRRRE f"fik\
B e D e
(1) (2) (3) O
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Vertical

Vertical Horizontal Horizontal
(a)  fig. (1) and (2) (b)  fig. (2yand (3)
(c) fig. (3)and (4) (d)  fig. (4) :
32 OSIAd R SwAEH HA % fAu W ogm wmw W ¥ R wmeed W § wg 1
k:
() TSR, e
(b)  EHI, I
(¢) TR, TERX
(d) e, IRt
The most commonly used pair in the plant kingdom to observe homology is :
(a) carrot, radish
(b) tomato, potato
() carrot, tomato
(d) potato, sweet potato
23 T gk 61 3ve] ¥ et 2 s %1 v wea €
(a) 3T . () W
() = (d) A
The union of a male gamete with ovum to form a seed is called as :
(a) germination (b)  pollination
© fertilization (d) reproduction

34 Hra g T fadl 0 wEAfeE A, B, C g9 D w2 |

3T

LAY y i
LG DTS EEe

(O ITTHTTTY
[T

LTEEY TR

P

P::H’

|u’lg'l Ils‘l-lulllllH;ﬂﬂﬂ

1
AR L

e G B L o D
e & Te hieter ¥ e W Re e famor i vt qen 3 R Temfye o R
Observe the following test tubes A, B, Cand D in the diagram given below.
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Acetic
acid

Water F-

T
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Clear

solution
water
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acetic
acid

€
depiction of the solution when acetic acid is mixed with water justifying your answer.

=1 Turbid
z==4 solution
E221  (water
od 5 &
SEED® :
=& 1L acetic
= § Soses acid)
L e
B

D

Identify the correct



35 oplan % feed ¥ o w Twe W w6 7 Sy wTon whew o o wenf #ifT 2

Is parental identity lost in binary fission of amoeba ? Justify your answer with Proper reason.

36

Sl TooT 3TREE o1 S¥areitenet ahiferdl a1 s 1 vt 3 Sem Afd)
@ A (A), (B) qu1 (C) *®n §?
(b)  (A) " (C) ¥ A THT 2

@

RS NG
i'/ . X
®

Observe the above ray diagram and answer the following questions :
(a) What are (A), (B) and (C) in the diagram.
(b)  What is the similarity in (A) and (C).

0000000

Page 11 of 11



